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0
and temperature of air becomes 23 C DBT. Find 

0relative humidity, if the condition of air is 35 C 

DBT, 60% RH and atmospheric pressure 1.013 bar.

humidity.

11.

6

OR

2019(Odd) 
1625605C

Time : 3Hrs. Sem - VI-M.E   
RAC

Full Marks : 70

Pass Marks : 28

Answer all 20 questions from Group A, each question 

carries 1 marks.

Answer all Five questions from Group B, each question 

carries 4 marks.

Answer all Five questions from Group C, each question 

carries 6 marks.

All parts of a question must be answered at one place in

sequence, otherwise they may not be evaluated.

The figure in right hand margin indicate marks.
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of humid and hot summer air conditioning with 

description.

without changing its moisture content. Find

(i) Final relative humidity

(ii) Final WBT

6

10.

OR

2 1625605C

1. Choose the most suitable answer from the following

options :1x20=20

(i)

(i)

(ii)

GROUP - A

3.5 KW refers to

(a) 1TR

(b) 0.5 TR

(c) 3.5 kg m/s

(d) 35 KJ/sec

50 Kcal/min is equal to

(a) 50 KJ /min

(b) 217 KJ/min

(c) 1 TR

(d) 1 HP

NT6036
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Draw the vapour absorption refrigeration cycle 

with block diagram, with table and description.

refrigeration system. Show on it super heating, 

sub-cooling and describe it. 

 P-R

WBT then calculate?

(i) Vapour pressure

(ii) Relative humidity

(iii) DPT

(iv) Enthalpy

9.

6

OR

NT6036

OR

(iii)

(iv)

(iii)

(ii) 50 Kcal/min 

(a) Less than one

(b) Greater than one of refrigerator C.O.P.

(c) Greater than two

(d) Less than 2

(a) Air refrigerator

(b) Vapour Compression

(c) Dry Ice

(d) Solid Ice

1625605C
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8.

6
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TR 

A reversed carnot cycle  working between 

temperature 500 K high and lower T cycle has l

COP 2.5, then find the value of T. If it is used as l 

heat pump, then find its EPR.

0
and 20C. If the vapour is dry at the end of 

compression, then find COP. use refrigerant table.

OR

4 1625605C

(iv)

(v)

(v)

(vi)

(a) Evaporator

(b) Discharge valve

(c) Capillary tube

(d) Thermostat

(a) CClF22

(b) CHClF2

(c) CClF2

(d) CClF

NT6036
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(vii)

(vii)

(viii)

(vi) R- 22 

Generator is employed in

(a) Air regrigeration 

(b) Vapour Compression

(c) Vapour absorption

(d) All of above

refrigeration system, effect on cop is.

(a) Decreases

(b) Increases

(c) Remains constant

(d) None of above

1625605C
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7.

6

NT6036

                 GROUP  - C

6 x 5 = 30
Answer all Five Questions.

OR

A cooling coil has bypass factor 0.32 then find the 

cooling coil efficiency.

Define ton of refrigeration (TR) and draw the 

diagram of steam jet refrigeration system.
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(viii)

(ix)

(ix)

compressor is minimum . When comparison 
process is ..........
(a) Adiabatic 
(b) Iseutropic
(c) Polytropic
(d) Isothermol

............ refrigeration system.
(a) Air
(b) Vapour compression
(c) Vapor absorption
(d) All of above

(x)

NT603615
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4

(i) Relative humidity
00

(ii) DPTDBT 30C and WBT 25C  air

Define sensible heating , cooling and chemical 

dehumidification and show on psychrometric chart.
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The condensing medium used in evaporative 

condenser is 

(a) Air only

(b) Water only

(c) Both Air and Water

(d) None of above

preservation ?

(a) Hot processing

(b) Dehydration

(c) Chemical preservation

(d) Crystalisation

(xi)

(xi)

(xii)

(x)

1625605C
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5.

OR

4

4

4.

NT6036

Air has specific humidity 0.010 kg/kg of dry air then 

find DPT for 1.033 bar of atmospheric pressure.

Air has atmospheric pressure 1.013 bar and DPT 
010 C then find specific humidity.

following

(i) Relative humidity lines

(ii) WBT lines
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Horizontal lines on psychrometric chart 

represent

(a) Enthalpy

(b) Specific humidity

(c) Entropy

(d) All of above

constant.

(a) DBT

(b) DPT

(c) WBT

(d) Enthalpy

(xiv)

(xii)

(xiii)

(xiii)

NT603613
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The carnot refrigeration requires 1.5 KW per tonne 

of refrigeration to maintain the inside temperature 
0

-28C . find 

(i) COP  

(ii) Amount of heat rejection

(i) COP  

(ii)

Explain the term

(a) Dry ice refrigeration system

(b) Ice refrigeration system

In an ideal carnot cycle for refrigeration process, 
0

condenser temperature is 30 and evaporator 
0

temperature is -10 C. Find C.O.P.
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In chemical dehumidification ................ 

remains constant.

(a) DBT

(b) WBT

(c) DPT

(d) Enthalpy

(a) DBT

(b) WBT

(c) Specific humidity

(d) All of above

(xiv)

(xv)

(xv)

1625605C

(xvi)

P.T.O
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(xx)

Answer all Five Questions.
4x5=20

Write four application of refrigeration  ?2.
4

NT6036
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of cooling coil, then efficiency of coil is .

(a) 1 - B

(b) B - 1

(c) 1/(1 -B)

(d) B/(1 -B)

WBT indicates

(a) Relative humidity

(b) DBT

(c) DPT

(d) All of above

1625605C

(xviii)

(xix)

(xx)

(xix)

P.T.O

NT6036 10 1625605C

DBT

which ............ can be read.

(a) DBT

(b) WBT

(c) Both 'a' and 'b'

(d) None of above

remains constant?

(a) DBT

(b) WBT

(c) Both 'a' and 'b'

(d) Relation humidity

(xvii)

(xvii)

(xviii)

(xvi)

NT6036
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